

Contents lists available at SciVerse ScienceDirect Journal of Mathematical Analysis and

Applications



www.elsevier.com/locate/jmaa

Convergence of the solution of the one-phase Stefan problem when the heat transfer coefficient goes to zero

Adriana C. Briozzo*, Domingo A. Tarzia

Depto. Matemática, F.C.E., Universidad Austral and CONICET, Paraguay 1950, S2000FZF Rosario, Argentina

ARTICLE INFO

Article history: Received 12 July 2011 Available online 25 November 2011 Submitted by K. Nishihara

Keywords: Stefan problem Free boundary problems Heat transfer coefficient Asymptotic behavior Order of convergence

ABSTRACT

We consider the one-phase unidimensional Stefan problem with a convective boundary condition at the fixed face, with a heat transfer coefficient (proportional to the Biot number) h > 0. We study the limit of the temperature θ_h and the free boundary s_h when h goes to zero, and we also obtain an order of convergence. The goal of this paper is to do the mathematical analysis of the physical behavior given in [C. Naaktgeboren, The zero-phase Stefan problem, Int.]. Heat Mass Transfer 50 (2007) 4614–4622].

© 2011 Elsevier Inc. All rights reserved.

(1)

1. Introduction

In this paper we consider the one-unidimensional free boundary problem (one-phase Stefan problem) with a convective boundary condition on the fixed boundary $\xi = 0$. It consists in determining the temperature $\theta = \theta(\xi, t)$ and the free boundary $\xi = s(t)$ which satisfy the following conditions

$$\begin{cases} (i) \quad \rho c \theta_{\tau} - k \theta_{\xi\xi} = 0, & 0 < \xi < s(\tau), \tau > 0, \\ (ii) \quad k \theta_{\xi}(0, \tau) = h \big[\theta(0, \tau) - f(\tau) \big], & \tau > 0, \\ (iii) \quad \theta \big(s(\tau), \tau \big) = 0, & \tau > 0, \\ (iv) \quad k \theta_{\xi} \big(s(\tau), \tau \big) = -\rho l \frac{ds}{d\tau}(\tau), & \tau > 0, \\ (v) \quad \theta(\xi, 0) = \varphi(\xi), & 0 \leqslant \xi \leqslant b, \\ (vi) \quad s(0) = b \quad (b > 0) \end{cases}$$

where h > 0 is the thermal transfer coefficient, $\varphi(\xi) \ge 0$, $0 \le \xi \le b$, is the initial temperature, $f = f(\tau) \ge 0$, $\tau > 0$ is the temperature of the external fluid and the compatibility conditions $k\varphi'(0) = h(\varphi(0) - f(0))$ and $\varphi(b) = 0$ are assumed. The goal of this paper is to study the mathematical behavior of the solution $\theta = \theta_h(\xi, \tau)$, $s = s_h(\xi, \tau)$ of the problem (1) when $h \to 0$.

The Stefan problem was studied in the last decades, see for example [1,2,5,8–10] and a large bibliography on the subject was given in [15].

* Corresponding author.

E-mail addresses: ABriozzo@austral.edu.ar (A.C. Briozzo), DTarzia@austral.edu.ar (D.A. Tarzia).

⁰⁰²²⁻²⁴⁷X/\$ - see front matter © 2011 Elsevier Inc. All rights reserved. doi:10.1016/j.jmaa.2011.11.049

Existence and uniqueness of solution to problem (1) is given in [6]. In [16] the behavior of the solution of the free boundary problem (1) with respect to the heat transfer coefficient *h* in the one-phase case was studied. A generalization of this result for the two-phase problem was considered in [17]. There it was proved that the asymptotic behavior when $t \to \infty$ of the one-phase free boundary problem with a convective boundary condition at the fixed face is the same that for the case where the temperature boundary condition, which is depending on time, is given on x = 0. Asymptotic behavior for the one-phase problem with temperature boundary condition on the fixed face was given by [3,4]. For the particular case $f(\tau) = \text{Const} > 0$, for the multidimensional case, the study of the asymptotic behavior when $h \to \infty$ is obtained by using the variational inequality [13,14] and for the one-dimensional case in [12]. In [17] the monotone dependence of the solution with respect to the data and with respect to the thermal transfer coefficient is proved to the two-phase Stefan problem. In [11], the classical one-phase Stefan problem is presented in dimensionless form with a time-varying-heat-power boundary condition. The asymptotic behavior of the solution for the generalized form of the Biot number $Bi \to 0$ is studied from a physical point of view. The goal of this paper is to obtain the mathematical analysis of this asymptotic behavior by obtaining an error convergence with respect to the Biot number.

We will make the following assumptions on the initial and boundary data:

- (i) Let $\varphi = \varphi(\xi)$ be a positive and piecewise continuous function, with $\varphi'(\xi) \leq 0$.
- (ii) Let $f = f(\tau)$ be a positive bounded piecewise continuous function, with $f'(\tau) \ge 0$.
- (iii) Compatibility conditions: $f(0) > \varphi(\xi)$, $\forall \xi \in (0, b)$, $k\varphi'(0) = h(\varphi(0) f(0))$ and $\varphi(b) = 0$.

If we define the following transformation

$$u(x,t) = \frac{c}{l}\theta(\xi,\tau), \quad x = \frac{\xi}{b}, \ t = \frac{\alpha}{b^2}\tau$$
(2)

where $\alpha = \frac{k}{\alpha c}$ is the diffusion coefficient then the free boundary problem (1) becomes

$$\begin{cases}
(i) & u_t - u_{xx} = 0, & 0 < x < S(t), t > 0, \\
(ii) & u_x(0, t) = H[u(0, t) - F(t)], & t > 0, \\
(iii) & u(S(t), t) = 0, & t > 0, \\
(iv) & u_x(S(t), t) = -\dot{S}(t), & t > 0, \\
(v) & u(x, 0) = \chi(x) \ge 0, & 0 \le x \le 1, \\
(vi) & S(0) = 1
\end{cases}$$
(3)

where

$$F(t) = \frac{c}{l} f\left(\frac{b^2 t}{\alpha}\right) \ge 0, \qquad H = b\frac{h}{k} > 0 \quad \text{(the Biot number)},$$

$$c \qquad 1 \quad (b^2 t) \qquad (4)$$

$$\chi(x) = \frac{c}{l}\varphi(bx), \qquad S(t) = \frac{1}{b}s\left(\frac{b^2t}{\alpha}\right).$$
(5)

In Section 2 we enunciate some preliminary results for the solution to the problem (3). In Section 3 we study the convergence for the solution to the problem (3) when the Biot number H (proportional to the heat transfer coefficient h) goes to zero and we give an order of convergence for the corresponding temperature at the fixed face and free boundary.

2. Properties of the solution to problem (3)

Under the assumptions given in Introduction we have the following results:

Lemma 1. (See [12,16,17].) The solution $u = u_H(x, t)$, $s = s_H(t)$ to the problem (3) satisfies the following inequalities:

(a) $0 \leq u_H(x, t) \leq F(t)$; (b) $H_1 < H_2 \Rightarrow u_{H_1}(x, t) \leq u_{H_2}(x, t)$; (c) $H_1 < H_2 \Rightarrow S_{H_1}(t) \leq S_{H_2}(t)$; (d) $u_H(x, t) \ge 0, u_x \leq 0, u_t = u_{xx} \ge 0$; (e) $0 \leq \dot{S}_H(t) \leq H.F(t)$

and it has the integral representation given by

1

$$u_{H}(x,t) = \int_{0}^{1} N(x,t;\xi,0)\chi(\xi) d\xi + \int_{0}^{1} N(x,t;S_{H}(\tau),\tau) V_{H}(\tau) d\tau$$

$$-H \int_{0}^{t} N(x,t;0,\tau) v_{H}(\tau) d\tau + H \int_{0}^{t} N(x,t;0,\tau) F(\tau) d\tau,$$
(6)
$$(t) = 1 - \int_{0}^{t} V_{H}(\tau) d\tau$$
(7)

$$S_{H}(t) = 1 - \int_{0}^{t} V_{H}(\tau) d\tau$$
⁽⁷⁾

where the functions $V_H = V_H(t)$ and $v_H = v_H(t)$, defined as

$$\begin{cases} V_H(t) = u_x (S_H(t), t), & t > 0, \\ v_H(t) = u_H(0, t), & t > 0, \end{cases}$$
(8)

are the solutions of the following system of integral equations:

$$V_{H}(t) = 2 \int_{0}^{1} \chi'(\xi) G(S_{H}(t), t, \xi, 0) d\xi - 2 \int_{0}^{t} H[\nu_{H}(\tau) - F(\tau)] N_{x}(S_{H}(t), t, 0, \tau) d\tau + 2 \int_{0}^{t} V_{H}(\tau) N_{x}(S_{H}(t), t, S_{H}(\tau), \tau) d\tau,$$
(9)

$$v_{H}(t) = \int_{0}^{1} \chi(\xi) N(0, t, \xi, 0) d\xi - \int_{0}^{t} H[v_{H}(\tau) - F(\tau)] N(0, t, 0, \tau) d\tau + \int_{0}^{t} V_{H}(\tau) N(0, t, S_{H}(\tau), \tau) d\tau,$$
(10)

for $0 < x < s_H(t)$, 0 < t < T, where G and N are the Green and Neumann functions defined by:

$$G(x,t,\xi,\tau) = K(x,t,\xi,\tau) - K(-x,t,\xi,\tau),$$
(11)

$$N(x, t, \xi, \tau) = K(x, t, \xi, \tau) + K(-x, t, \xi, \tau)$$
(12)

with

$$K(x, t, \xi, \tau) = \begin{cases} \frac{1}{2\sqrt{\pi(t-\tau)}} \exp(-\frac{(x-\xi)^2}{4(t-\tau)}), & t > \tau, \\ 0, & t \leqslant \tau. \end{cases}$$
(13)

3. Asymptotic behavior of the solution u_H , s_H when $H \rightarrow 0$

Motivated by the physical study given in [11], we will study the behavior of the solution $u = u_H(x, t)$, $S = S_H(t)$ of the problem (3) when $H \rightarrow 0$. We will prove that the solution to problem (3) converge to the solution of the following parabolic free boundary problem (14):

(i)
$$u_{0t} - u_{0_{xx}} = 0,$$
 $0 < x < S_0(t), t > 0,$
(ii) $u_{0_x}(0,t) = 0,$ $t > 0,$
(iii) $u_0(S_0(t),t) = 0,$ $t > 0,$
(iv) $u_{0_x}(S_0(t),t) = -\dot{S}_0(t),$ $t > 0,$
(v) $u_0(x,0) = \chi(x) \ge 0,$ $0 \le x \le 1,$
(vi) $S_0(0) = 1$
(14)

when $H \rightarrow 0$. The problem (14) has the following integral representation

$$u_0(x,t) = \int_0^1 N(x,t;\xi,0)\chi(\xi)\,d\xi + \int_0^t N(x,t;S_0(\tau),\tau)u_{0_x}(S_0(\tau),\tau)\,d\tau.$$
(15)

We will use some integral relations satisfied by the solutions $u = u_H(x, t)$, $S = S_H(t)$, and $u = u_0(x, t)$, $S = S_0(t)$ to problems (3) and (14) respectively.

Lemma 2. For problem (3), we have the following integral relations:

$$S_{H}(t) = 1 - H \int_{0}^{t} \left[u_{H}(0,\tau) - F(\tau) \right] d\tau - \int_{0}^{S_{H}(t)} u_{H}(x,t) \, dx + \int_{0}^{1} \chi(x) \, dx, \quad 0 < x < S_{H}(t), \ t > 0, \tag{16}$$

$$S_{H}^{2}(t) = 1 - 2 \int_{0}^{S_{H}(t)} x u_{H}(x,t) \, dx + 2 \int_{0}^{1} x \chi(x) \, dx + 2 \int_{0}^{t} u_{H}(0,\tau) \, d\tau, \quad 0 < x < S_{H}(t), \ t > 0, \tag{17}$$

$$\int_{0}^{S_{H}(t)} u_{H}^{2}(x,t) dx - \int_{0}^{1} \chi^{2}(x) dx + 2 \int_{0}^{t} \int_{0}^{S_{H}(\tau)} u_{H_{x}}^{2}(x,\tau) dx d\tau \leq H \int_{0}^{t} F^{2}(\tau) d\tau, \quad 0 < x < S_{H}(t), \ t > 0.$$
(18)

For problem (14), we have the following integral relations:

$$S_0(t) = 1 - \int_0^{S_0(t)} u_0(x, t) \, dx + \int_0^1 \chi(x) \, dx, \quad 0 < x < S_0(t), \ t > 0, \tag{19}$$

$$S_0^2(t) = 1 - 2 \int_0^{S_0(t)} x u_0(x, t) \, dx + 2 \int_0^1 x \chi(x) \, dx + 2 \int_0^t u_0(0, \tau) \, d\tau, \quad 0 < x < S_0(t), \ t > 0, \tag{20}$$

$$\int_{0}^{S_{0}(t)} u_{0}^{2}(x,t) dx - \int_{0}^{1} \chi^{2}(x) dx + 2 \int_{0}^{t} \int_{0}^{S_{0}(\tau)} u_{0_{x}}^{2}(x,\tau) dx d\tau = 0, \quad 0 < x < S_{0}(t), \ t > 0.$$
(21)

Proof. See [2,7,17]. □

Lemma 3. We have $S_0(t) < S_H(t)$, for all t > 0, H > 0.

Proof. We suppose that the assertion of the Lemma 3 is false, that is there exists $t_1 > 0$ such that

$$S_0(t) < S_H(t), \quad \forall 0 < t < t_1$$
 (22)

and

 $S_0(t_1) = S_H(t_1).$

If we define

$$w_H(x,t) = u_H(x,t) - u_0(x,t), \quad 0 < x < S_0(t), \ 0 < t < t_1$$

we have the following properties:

$$\begin{cases}
(i) & w_{H_t} - w_{H_{xx}} = 0, & 0 < x < S_0(t), \ 0 < t < t_1, \\
(ii) & w_{H_x}(0, t) = u_{H_x}(0, t) - u_{0_x}(0, t) = H [u_H(0, t) - F(t)] < 0, & 0 < t < t_1, \\
(iii) & w_H (S_0(t), t) = u_H (S_0(t), t) \ge 0, & 0 < t < t_1, \\
(iv) & w_{H_x} (S_0(t), t) = u_{H_x} (S_0(t), t) + \dot{S}_0(t), & 0 < t < t_1, \\
(v) & w_H(x, 0) = 0, & 0 \le x \le 1, \\
(vi) & S_0(0) = 1
\end{cases}$$
(23)

and

$$w_H(S_0(t_1), t_1) = u_H(S_0(t_1), t_1) = u_H(S_H(t_1), t_1) = 0.$$

By the maximum principle we deduce that $w_H(0,t) \ge 0$, $0 < t < t_1$ by using the condition (23)(ii). Therefore we have a minimum value $w_H(S_0(t_1), t_1) = 0$ and then we get $w_{H_x}(S_0(t_1), t_1) < 0$. But on the other hand we have

$$w_{H_x}(S_0(t_1), t_1) = u_{H_x}(S_0(t_1), t_1) - u_{0x}(S_0(t_1), t_1) = -\dot{S}_H(t_1) + \dot{S}_0(t_1) \ge 0$$

which is a contradiction. $\hfill\square$

Lemma 4. We have

$$u_H(x,t) \ge u_0(x,t), \quad \text{for all } 0 < x < S_0(t), \ t > 0.$$
⁽²⁴⁾

Proof. If we consider

$$w_H(x,t) = u_H(x,t) - u_0(x,t), \quad 0 < x \le S_0(t), \ t > 0$$

then w_H has the following properties:

$$\begin{array}{ll} (i) & w_{H_t} - w_{H_{xx}} = 0, & 0 < x < S_0(t), \ t > 0, \\ (ii) & w_{H_x}(0,t) = u_{H_x}(0,t) - u_{0_x}(0,t) = H \big[u_H(0,t) - F(t) \big] < 0, & t > 0, \\ (iii) & w_H \big(S_0(t),t \big) = u_H \big(S_0(t),t \big) \geqslant 0, & t > 0, \\ (iv) & w_{H_x} \big(S_0(t),t \big) = -u_{H_x} \big(S_0(t),t \big) + \dot{S}_0(t), & t > 0, \\ (v) & w_H(x,0) = 0, \\ (vi) & S_H(0) = 1. \end{array}$$

By the maximum principle, as in Lemma 3, we analyze the sign of $w_H(0, t)$ and we obtain that the minimum of $w_H(x, t)$ is a positive value and it is on the parabolic boundary. Then we get (24). \Box

Lemma 5. If $\int_0^{+\infty} F(\tau) d\tau < \infty$ then we have the following limit:

$$\lim_{H \to 0} S_H(t) = S_0(t)$$
(26)

for each t in a compact set in \mathbb{R}^+ , with the following order of convergence given by:

$$0 \leqslant S_H(t) - S_0(t) \leqslant H \int_0^t F(\tau) d\tau.$$
⁽²⁷⁾

Proof. According to Lemma 2 it follows

$$S_{H}(t) - S_{0}(t) = \int_{0}^{S_{0}(t)} u_{0}(x,t) dx - \int_{0}^{S_{H}(t)} u_{H}(x,t) dx - H \int_{0}^{t} \left[u_{H}(0,\tau) - F(\tau) \right] d\tau$$

=
$$\int_{0}^{S_{H}(t)} u_{0H}(x,t) dx - \int_{0}^{S_{H}(t)} u_{H}(x,t) dx + H \int_{0}^{t} \left[F(\tau) - u_{H}(0,\tau) \right] d\tau$$

where u_{0H} is defined as an extension of u_0 by 0 as follows:

$$u_{0H}(x,t) = \begin{cases} u_0(x,t), & 0 < x \le S_0(t), \ t > 0, \\ 0, & S_0(t) < x \le S_H(t), \ t > 0. \end{cases}$$

Then we have the estimation (27) because $u_{0H}(x,t) - u_H(x,t) \leq 0$ and $u_H(0,\tau) \geq 0$. Then, the thesis holds. \Box

Lemma 6. If $\int_0^{+\infty} F(\tau) d\tau < \infty$ then we have the following limit:

$$\lim_{H \to 0} u_H(0,t) = u_0(0,t)$$
⁽²⁸⁾

for each t in a compact set in \mathbb{R}^+ with the following order of convergence given by

$$\left|u_{H}(0,t)-u_{0}(0,t)\right| \leq L(t)H$$

where

$$L(t) = I(t) + J(t) \int_{0}^{t} F(\tau) d\tau$$
(29)

with

$$I(t) = \left(\frac{2}{\sqrt{\pi}}\sqrt{t} + \left(\frac{6}{e}\right)^{3/2} \frac{t^2 \|F\|_t}{2\sqrt{\pi}}\right) \|F\|_t,\tag{30}$$

$$J(t) = \frac{1 + \int_0^1 \chi(x) \, dx}{2\sqrt{\pi}} \left(\frac{6}{e}\right)^{\frac{3}{2}} t \|\dot{S}_0\|_t + \left(\frac{10}{e}\right)^{\frac{3}{2}} \frac{1}{2\sqrt{\pi}} \left[\frac{\|S_0\|_t^2}{2}t + t^2\right].$$
(31)

Proof. By using (6) and (15) we have

$$\begin{split} u_{H}(0,t) - u_{0}(0,t) &= -\int_{0}^{t} H \big[u_{H}(0,\tau) - F(\tau) \big] N(0,t,0,\tau) \, d\tau \\ &+ \int_{0}^{t} u_{H_{x}} \big(S_{H}(\tau),\tau \big) N \big(0,t,S_{H}(\tau),\tau \big) \, d\tau - \int_{0}^{t} u_{0\xi} \big(S_{0}(\tau),\tau \big) N \big(x,t;S_{0}(\tau),\tau \big) \, d\tau \\ &= -\int_{0}^{t} H \big[u_{H}(0,\tau) - F(\tau) \big] N(0,t,0,\tau) \, d\tau \\ &+ \int_{0}^{t} \big[N \big(0,t;S_{0}(\tau),\tau \big) \dot{S}_{0}(\tau) - N \big(0,t;S_{H}(\tau),\tau \big) \dot{S}_{H}(\tau) \big] \, d\tau := A_{1} + A_{2}, \end{split}$$

where

$$A_{1} = \int_{0}^{t} H[F(\tau) - u_{H}(0,\tau)] N(0,t;0,\tau) d\tau \leq H \int_{0}^{t} \frac{F(\tau)}{\sqrt{\pi(t-\tau)}} d\tau \leq \frac{2H \|F\|_{t}}{\sqrt{\pi}} \sqrt{t}$$
(32)

and

$$A_{2} = \int_{0}^{t} \left[N(0,t;S_{0}(\tau),\tau) \dot{S}_{0}(\tau) - N(0,t,S_{H}(\tau),\tau) \dot{S}_{H}(\tau) \right] d\tau$$

=
$$\int_{0}^{t} \dot{S}_{H}(\tau) \left[N(0,t;S_{0}(\tau),\tau) - N(0,t;S_{H}(\tau),\tau) \right] d\tau$$

+
$$\int_{0}^{t} N(0,t;S_{0}(\tau),\tau) \left[\dot{S}_{0}(\tau) - \dot{S}_{H}(\tau) \right] d\tau := A_{3} + A_{4}, \qquad (33)$$

and

$$\|F\|_{t} = \max\{F(\tau), \ 0 < \tau < t\}.$$
(34)

If we take into account that

$$\begin{split} N(0,t;S_0(\tau),\tau) - N(0,t,S_H(\tau),\tau) &= N_{\xi}(0,t;c,\tau) \big[S_0(\tau) - S_H(\tau) \big] \\ &= \frac{-c \exp(-\frac{c^2}{4(t-\tau)})}{2\sqrt{\pi}(t-\tau)^{\frac{3}{2}}} \big[S_0(\tau) - S_H(\tau) \big], \end{split}$$

where $c = c(H, \tau) \in (S_0(\tau), S_H(\tau))$ and by using the inequality

$$\frac{\exp(\frac{-x^2}{\alpha(t-\tau)})}{(t-\tau)^{\frac{n}{2}}} \leqslant \left(\frac{n\alpha}{2ex^2}\right)^{\frac{n}{2}}, \quad \alpha, x > 0, \ t > \tau, \ n \in \mathbb{N},$$
(35)

then we have

$$\begin{split} N(0,t;S_0(\tau),\tau) - N(0,t,S_H(\tau),\tau) &\leq \left(\frac{6}{e}\right)^{3/2} \frac{1}{2\sqrt{\pi}c^2} \left[S_H(\tau) - S_0(\tau)\right] \\ &\leq \left(\frac{6}{e}\right)^{3/2} \frac{1}{2\sqrt{\pi}S_0^2(\tau)} \left[S_H(\tau) - S_0(\tau)\right] \\ &\leq \left(\frac{6}{e}\right)^{3/2} \frac{1}{2\sqrt{\pi}} \left[S_H(\tau) - S_0(\tau)\right]. \end{split}$$

Therefore by using Lemma 1 and (27) we have

$$|A_{3}| \leq \left(\frac{6}{e}\right)^{3/2} \frac{t}{2\sqrt{\pi}} \|\dot{S}_{H}\|_{t} \|S_{H} - S_{0}\|_{t}$$

$$\leq \left(\frac{6}{e}\right)^{3/2} \frac{t}{2\sqrt{\pi}} H^{2} \|F\|_{t} \int_{0}^{t} F(\tau) d\tau.$$
(36)

Moreover, we have

$$A_{4} = \int_{0}^{t} N(0,t;S_{0}(\tau),\tau) [\dot{S}_{0}(\tau) - \dot{S}_{H}(\tau)] d\tau$$
$$= -\int_{0}^{t} \frac{\partial}{\partial \tau} (N(0,t,S_{0}(\tau),\tau)) [S_{0}(\tau) - S_{H}(\tau)] d\tau$$
(37)

where

$$\frac{\partial}{\partial \tau} \left(N\left(0, t, S_0(\tau), \tau\right) \right) = N_{\xi} \left(0, t, S_0(\tau), \tau\right) \dot{S}_0(\tau) + N_{\tau} \left(0, t, S_0(\tau), \tau\right).$$
(38)

Taking into account (35) and

$$N_{\xi}(0,t,S_{0}(\tau),\tau) = \frac{-S_{0}(\tau)\exp(-\frac{S_{0}^{2}(\tau)}{4(t-\tau)})}{2\sqrt{\pi}(t-\tau)^{\frac{3}{2}}}$$

and

$$N_{\tau}(0,t,S_{0}(\tau),\tau) = 2K_{\tau}(0,t,S_{0}(\tau),\tau) = -\frac{\exp(-\frac{S_{0}^{2}(\tau)}{4(t-\tau)})S_{0}^{2}(\tau)}{4\sqrt{\pi}(t-\tau)^{\frac{5}{2}}} - \frac{\exp(-\frac{S_{0}^{2}(\tau)}{4(t-\tau)})S_{0}^{2}(\tau)}{2\sqrt{\pi}(t-\tau)^{\frac{3}{2}}}$$

_

we have

$$\left|N_{\xi}\left(0,t,S_{0}(\tau),\tau\right)\right| \leq \frac{1+\int_{0}^{1}\chi(x)\,dx}{2\sqrt{\pi}}\left(\frac{6}{e}\right)^{\frac{3}{2}}$$

and

$$|N_{\tau}(0,t,S_{0}(\tau),\tau)| \leq \frac{\exp(-\frac{1}{4(t-\tau)})}{2\sqrt{\pi}(t-\tau)^{\frac{5}{2}}} \left[\frac{S_{0}^{2}(\tau)}{2} + (t-\tau)\right] \leq \left(\frac{10}{e}\right)^{\frac{3}{2}} \frac{1}{2\sqrt{\pi}} \left[\frac{S_{0}^{2}(\tau)}{2} + t\right].$$

Therefore we obtain

$$|A_{4}| \leq \int_{0}^{t} \left[\left| N_{\xi} \left(0, t, S_{0}(\tau), \tau \right) \right| \left| \dot{S}_{0}(\tau) \right| + \left| N_{\tau} \left(0, t, S_{0}(\tau), \tau \right) \right| \right] \left| S_{0}(\tau) - S_{H}(\tau) \right| d\tau$$

$$\leq \left\{ \frac{1 + \int_{0}^{1} \chi(x) \, dx}{2\sqrt{\pi}} \left(\frac{6}{e} \right)^{\frac{3}{2}} t \| \dot{S}_{0} \|_{t} + \left(\frac{10}{e} \right)^{\frac{3}{2}} \frac{1}{2\sqrt{\pi}} \left[\frac{\|S_{0}\|_{t}^{2}}{2} t + t^{2} \right] \right\} \|S_{0} - S_{H}\|_{t}.$$
(39)

Owing to (27) and the fact we can take $H \leq 1$, then we get

$$\begin{aligned} \left| u_{H}(0,t) - u_{0}(0,t) \right| &\leq \frac{2H \|F\|_{t}}{\sqrt{\pi}} \sqrt{t} + \left(\frac{6}{e}\right)^{3/2} \frac{t}{2\sqrt{\pi}} H^{2} \|F\|_{t} \int_{0}^{t} F(\tau) d\tau \\ &+ \left\{ \frac{1 + \int_{0}^{1} \chi(x) dx}{2\sqrt{\pi}} \left(\frac{6}{e}\right)^{\frac{3}{2}} t \|\dot{S}_{0}\|_{t} + \left(\frac{10}{e}\right)^{\frac{3}{2}} \frac{1}{2\sqrt{\pi}} \left[\frac{\|S_{0}\|_{t}^{2}}{2} t + t^{2} \right] \right\} \|S_{0} - S_{H}\|_{t} \\ &\leq \frac{2H \|F\|_{t}}{\sqrt{\pi}} \sqrt{t} + \left(\frac{6}{e}\right)^{3/2} \frac{t^{2}}{2\sqrt{\pi}} H \|F\|_{t}^{2} \\ &+ \left\{ \frac{1 + \int_{0}^{1} \chi(x) dx}{2\sqrt{\pi}} \left(\frac{6}{e}\right)^{\frac{3}{2}} t \|\dot{S}_{0}\|_{t} + \left(\frac{10}{e}\right)^{\frac{3}{2}} \frac{1}{2\sqrt{\pi}} \left[\frac{\|S_{0}\|_{t}^{2}}{2} t + t^{2} \right] \right\} \|S_{0} - S_{H}\|_{t} \\ &\leq I(t)H + J(t) \|S_{0} - S_{H}\|_{t} \leq L(t)H \end{aligned}$$

$$\tag{40}$$

and the thesis holds. $\hfill\square$

Theorem 7. If $\int_0^{+\infty} F(\tau) d\tau < \infty$ then we have

$$u_H(x,t) \underset{H \to 0}{\longrightarrow} u_0(x,t)$$
, for all compact set in the domain $0 < x < S_0(t)$, $t > 0$.

Proof. Taking into account Lemma 2 we have

$$0 \leq \int_{0}^{S_{0}(t)} x \left[u_{H}(x,t) - u_{0}(x,t) \right] dx + \frac{S_{H}^{2}(t)}{2} - \frac{S_{0}^{2}(t)}{2}$$
$$= \int_{S_{0}(t)}^{S_{H}(t)} x u_{H}(x,t) dx + \int_{0}^{t} \left[u_{H}(0,\tau) - u_{0}(0,\tau) \right] d\tau.$$

By using (40), Lemmas 1 and 6, and taking $H \leq 1$ we have

$$\int_{S_{0}(t)}^{S_{H}(t)} x u_{H}(x,t) dx + \int_{0}^{t} \left[u_{H}(0,\tau) - u_{0}(0,\tau) \right] d\tau
\leq \left\| u_{H}(.,t) \right\|_{\left[S_{0}(t),S_{H}(t)\right]} \left(\frac{S_{H}^{2}(t)}{2} - \frac{S_{0}^{2}(t)}{2} \right) + H \int_{0}^{t} L(\tau) d\tau
\leq \left\| F \right\|_{t} \frac{1}{2} \left(S_{H}(t) + S_{0}(t) \right) \left(S_{H}(t) - S_{0}(t) \right) + H \int_{0}^{t} L(\tau) d\tau \leq M(t) H$$
(41)

where M(t) is given by

$$M(t) = \int_{0}^{t} L(\tau) d\tau + \|F\|_{t} \left(S_{0}(t) + \frac{1}{2} \int_{0}^{t} F(\tau) d\tau \right) \int_{0}^{t} F(\tau) d\tau$$
(42)

and the thesis holds. $\hfill\square$

4. Conclusions

The asymptotic behavior of the solution to the Stefan problem with a convective boundary condition at the fixed face when the heat transfer coefficient (proportional to the Biot number) goes to zero has been obtained given an order of convergence.

Acknowledgment

This paper has been partially sponsored by Project PIP No. 0460 from CONICET - UA (Rosario, Argentina).

References

- [1] V.V. Alexiades, A.D. Solomon, Mathematical Modelling of Melting and Freezing Processes, Hemisphere-Taylor & Francis, Washington, 1993.
- [2] J.R. Cannon, The One-Dimensional Heat Equation, Addison-Wesley, Menlo Park, 1984.
- [3] J.R. Cannon, C.D. Hill, Remarks on a Stefan problem, J. Math. Mech. 17 (1967) 433-441.
- [4] J.R. Cannon, M. Primicerio, Remarks on the one-phase Stefan problem for the heat equation with the flux prescribed on the fixed boundary, J. Math. Anal. Appl. 35 (1971) 361-373.
- [5] J. Crank, Free and Moving Boundary Problems, Clarendon Press, Oxford, 1984.
- [6] A. Fasano, M. Primicerio, General free-boundary problems for the heat equation, I, J. Math. Anal. Appl. 57 (3) (1977) 694-723.
- [7] A. Fasano, M. Primicerio, New results on some classical parabolic free-boundary problems, Quart. Appl. Math. 38 (1981) 439-460.
- [8] A. Friedman, Partial Differential Equations of Parabolic Type, Prentice Hall, Inc., Englewood Cliffs, NJ, 1964.
- [9] S.C. Gupta, The Classical Stefan Problem. Basic Concepts, Modelling and Analysis, Elsevier, Amsterdam, 2003.
- [10] V.J. Lunardini, Heat Transfer with Freezing and Thawing, Elsevier, Amsterdam, 1991.
- [11] C. Naaktgeboren, The zero-phase Stefan problem, Int. J. Heat Mass Transfer 50 (2007) 4614-4622.
- [12] A.D. Solomon, V. Alexiades, D.G. Wilson, The Stefan problem with a convective boundary condition, Quart. Appl. Math. 40 (1982) 203-217.
- [13] D.A. Tarzia, Sur le problème de Stefan à deux phases, C. R. Acad. Sci. Paris 288A (1979) 941-944.
- [14] D.A. Tarzia, Etude de l'inéquation variationelle proposée par Duvaut pour le problème de Stefan à deux phases II, Boll. Unione Mat. Ital. 2B (1983) 589-603.
- [15] D.A. Tarzia, A bibliography on moving-free boundary problems for the heat-diffusion equation. The Stefan and related problems, MAT Ser. A 2 (2000) 1–297 (with 5869 titles on the subject). See http://web.austral.edu.ar/descargas/facultad-cienciasempresariales/mat/Tarzia-MAT-SerieA-2(2000).pdf.
- [16] D.A. Tarzia, C.V. Turner, The asymptotic behavior for the one-phase Stefan problem with a convective boundary condition, Appl. Math. Lett. 9 (3) (1996) 21–24.
- [17] D.A. Tarzia, C.V. Turner, The asymptotic behavior for the two-phase Stefan problem with a convective boundary condition, Commun. Appl. Anal. 7 (3) (2003) 313–334.